ENGR-2060

E.M. - DYNAMICS

NAME DATE
WEEK: PROBLEM:
GIVEN: Y
The radial line rotates with a constant /
angular velocity of 2 rad/s. Point P moves along the line 4 m/s 2 rad/s

at a constant speed of 4 n/s. Determine the magnitude of
the velocity and acceleration of P when r =2 m.

r
REQUIRED:
SOLUTION:
Selution: The angnlar velocity of the line is The magnitude is
% = w =2 rds, I¥l = VA + 2 = 5.66 s |
g
d2a The acceleration is
from which i =0

a =[-2(4}]e, + [2(4)(2)]es = —Se, + l6e; (nv/s”).
The radial velocity of the point is
The magnitude is
dr o
i la] = vE + 162 = 17.89 m/s*

from which T 0.
The vector velocity is

dr di
V= (I)e, +r (E)eg = de, +de; (mfs).
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